
GOLDILOCKS AND THE THREE BEARS – A1 – ANSWER KEY 

1) 2. A   3. G   4. E   5. D   6. B   7. F 

2) B. 5   C. 3    D. 2    E. 6   F. 4 

3) Across: 2. surprised   3. blonde    5. throws     6. pieces 

Down: 2.  spoon    3. bowls     4.  dirty 

4) 2. B    3. G    4. M     5. D    6. G 

5) 1. B     2. A     3. B 

6) 2. find     3. have     4. cushion    5. stairs    6. friendly 

7) 2. Because she gets lost in the forest. (Because she can’t find her way home.) 

(Because she feels very tired and hungry.) 

3. No, it can’t.  

4. She sleeps in Baby Bear’s bed. 

5. They feel angry. 


